S 3w 3ai (101 (g 30 Juod g

Aland | alad 2laed| 2laad

wad pb UU,A&}' @bl G s sl aaly Giels Gl

A%y

Gk e ok e

v [T G A1 8856 cusminly S5 Sla olpe Slasl sk 2 0 1 0
[T @ A2 1373 Sipi ol N W o wdec_s,l 1 2 1 2
= [ B A3 1374 s Beas wwolaisl 7 s,k 3 0 1 0
* 7 G 4 4 1375 sl aihio 5 Sypd Siy by wolaisl v sk 3.0 1 0
» I (G &5 1376 slashio 3 Sypui b 5,8 wwlaisl 7 ec 0 2 0 3
TG A6 1364 v b wlol W sk 2 0 1 0
» T [@ &7 1365 S slobes wdol sk 2 0 1 0
» [T (G # 8 1366 lashios Sypw w>bb ol W s,k 3 0 1 0
» [ (G 9 1367 wwsecsladl Lol W sk 2 0 1 0
v T (G 410 9106 waiy cobo » Sl ) SUsl aeuals)  swsac W Sk 2 0 1 0
« [ (G 4 11 9126 supdlls wwoae b sdac_ syl 2 1 1 2
T[S A 12 9105 el s owliw 5 acloss] Bsia> wosac sk 2 0 1 0
I [G . 13 9127 cuse> g osleils puhais wosas | g Sk 1 0 1 0
v [T (G 4 14 9124 o35 ony s osac P wsdec 0 1 0 2
« T [B& 4 15 9369 s > P Sk 2 0 1 0
v 7 G 4 16 9368 sol, VIV Gy 2 0 1 0
« [ (G # 17 1357 ,lol wlosio s wlsl, al W s,k 3 0 1 0
+ 7 [8 418 1358 swgac Susd al W sk 2 0 1 0
« I [@ 19 9120 ) uw oy wosas  Fo wlac 0 1 0 2
[T B 20 9122 o ey wwoac & slac 0 1 0 2
» [ (G 4 21 9128 cusme> 5 oslels Giwls wwogas B s,k 2 0 1 0
[ (G 4 22 9109 pMewl s slac Ol,e wwoac b7 Sk 2 0 1 0
v T8 423 9118 b ol wegoc W sk 3 0 1 0
= [ [ 4 24 9102 sleo s o) () )eswolw! @iyl wwoac & S,k 2 0 1 0
« [ [ # 25 9104 e\l s ol wwogas b7 s,k 2 0 1 0
v T8 426 9101 el ol wegoe W sk 30 1 0
» T (8 27 9129 Lwaio els Sl )l s Sidd b swlal )bzl 3 Sk 2 0 1 0



S 3w 3ai (101 (g 30 Juod g

Aland | alad 2laed| 2laad

G s sl aaly Giels Gl

Gk e ok e

» 7 (G 4 28 9373 csunsi Aol 9 sismolS csilio o W osdee syl 1 1 2
v 7 B 429 9108 (55,08 W) (S5 ) wegoe W sk 2 0 1 0
+ 7 (8 430 9107 puslis s csibie) collwl SUs) wosac sk 2 0 1 0
v 7 B 431 9370 sels)ol) b Sk 2 0 1 0
w [ (G 4 32 1377 Sypi i, a0l o558 wwlasl 7 lac 0 2 0 3
= [ [ 4 33 1378 )loze wud wobb wwolasl 27 dac_ syl 2 1 1 2
» [ [@ 4 34 1379 hu=o cosliy wwolasl 7 s,k 2 0 1 0
« [ (G # 35 1380 jw Slad obb wwolasl 7 dac_ syl 1 1 1 2
» [ [B 4 36 1381 adyio,ue &sle> cunie wwolasl 7 lac_sbi 1 1 1 2
» [T [G # 37 1368 ldac g S)lsyy auuis Lol W o sdoc S,y 2 1 1 3
v T [E 38 1369 o Jexig EuU wlol Vo sk 2 0 1 0
= [ (G 4 39 1370 S5lunpi s siomolS 5,018 ol w7 sdac 0 2 0 2
« [ [G 4 40 1371 s ol Lol W o sdoc s,y 1 1 1 2
w [ [G 4 41 1372 sewlis coumo> N T ANICRY 3 0 1 0
= [ (G 4 42 1359 wgac S5 olSinlosl al w7 sdac 0 1 0 3
w [ (G 4 43 1360 Uls,,89,00m0lS b bl al W osdec_ s, 1 1 1 3
r (G 4 44 1361 Oloaslo coubsS auindi 9 cid oo, ol W o sdec_s,bi 1 1 1 3
[ B 4 45 1362 s,le=o ko ol v s,k 2 0 1 0
v [T B 4 46 1363 e Sl il ool W decsbi 1 1 1 2
+ [ [ # 47 1382 sie0llS wwolasl 7 seebls 0 2 0 240
T [ A48 7692 snigrpu Bes> wlS wosec o Sk 2 0 1 0



